4-11 AUGUST 2019 Day2 Tasks
BAKU - AZERBAIJAN Korean (KOR)

o )
[ Wi 31STINTERNATIONAL vision
ﬂ OLYMPIAD IN INFORMATICS

= =

Vision Program
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Implementation details
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void construct network(int H, int W, int K)

« H,W: 232 7ujatz} 42 ofu]7]o] 7]
%

int add not(int N)

int add and(int[] Ns)
int add or(int[] Ns)
int add xor(int[] Ns)

e Z}Z} NOT, AND, OR, or XOR ¥ &2 F7}3tit.

e N (add_notollA]): F7Fsk= NOT o] 9= Ale] Mg olrt,
e Ns (add and, add or, add xorof|4): &7}5k= AND, OR, XOR HHE°] ¢l A= Ha =
= A7 ol
Z
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HES A& 7 Utk =, add_and, add_or, add_xor 0] BE oF0A ARGH Q1A HiEES] A
719] 9t add not 9] && 9149 912 1000 000 E-2 5 §ltt
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e Instruction with no inputs: add and, add or, add xor<9] ¢Iztz Hl sjdo] FoH
o},

e Invalid index: add and, add or, add xor, add not?] Szt AHEH (&4 HId &
Q=) Al 57} Fol AT,

e Too many instructions: 100007HE Z¥st= Hd<= P ote

e Too many inputs: ¥Zoz g2 Al9] 7§57} 1000 000&

AE=ZF AT

Example
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e Case 1: 01} 57} 4-& Ao
e Case 2: 29} 30] -2 Mo
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1. add and([0, 5]), °1EA

ZFert.
2. add _and([2, 3]),°1%
XJ%

3. a r([6 71), o1EA vt= HH2 f1o F HE

1% 293 Aot

Constraints

1< H <200

¢ 1< W <200
2<H W
1<K<H+W-2

Subtasks

. (10 points) max(H, W
. (11 points) max(H, W
(H,W
(H,W

. (14 points) K =1
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. (19 points) 7} AleF 0] g2

Sample grader
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